
Mystery Graph 

• Create the graph using the clues below. 

The number of vans was one sixth of the number of cars. 

The least frequent vehicle was lorry. 

The number of motorbikes was less than the number of buses but 
more than the number of vans. 

The number of vehicles in total was 61 

The number of buses was 8 

The most frequent vehicle was car. 

The number of lorries was half the number of buses. 

The number of vans is two more than the number of lorries. 
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Answers 

Cars 36 

Vans 6 

Lorries 4 

Buses 8 

Motorbikes 7 
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